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Using the equivalence from the definition we can rewrite this as, 
 2? 2=  
So, all that we are really asking here is what number did we square to get 25.  In this case that is 
(hopefully) easy to get.  We square 5 to get 25.  Therefore, 

 
1
225 5=  

[Return to Problems] 
 

(b) 
1
532  

So what we are asking here is what number did we raise to the 5th power to get 32? 
1

5532 2 because 2 32= =  
[Return to Problems] 

 

(c) 
1
481  

What number did we raise to the 4th power to get 81? 

 
1

4481 3 because 3 81= =  
[Return to Problems] 

 

(d) ( )
1
38−  

We need to be a little careful with minus signs here, but other than that it works the same way as 
the previous parts.  What number did we raise to the 3rd power (i.e. cube) to get -8? 

 ( ) ( )
1 3
38 2 because 2 8− = − − = −  

[Return to Problems] 
 

(e) ( )
1
416−  

This part does not have an answer.  It is here to make a point.  In this case we are asking what 
number do we raise to the 4th power to get -16.  However, we also know that raising any number 
(positive or negative) to an even power will be positive.  In other words, there is no real number 
that we can raise to the 4th power to get -16. 
 
Note that this is different from the previous part.  If we raise a negative number to an odd power 
we will get a negative number so we could do the evaluation in the previous part. 
 
As this part has shown, we can’t always do these evaluations. 

[Return to Problems] 
 

(f) 
1
416−  

Again, this part is here to make a point more than anything.  Unlike the previous part this one has 
an answer.  Recall from the previous section that if there aren’t any parentheses then only the part 
immediately to the left of the exponent gets the exponent.  So, this part is really asking us to 
evaluate the following term. 
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